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Please read the following carefully before Making an attempt to take the Test]

No. of Questions
Marks forevery correct Answer _

No ncgative marks will be awarded For Option “E”
Marks deducted for every wrong 0.25

Answer or Blank options
candidate’s total marks. No negative marks will be

awarded. if the option “E” is selected by the

Instructions for Candjdates
1. Keep only the Hall Ticket, pencil, eraser and Black/ candidates. “E” is not option of answer. However,
0.25 will be deducted if all the options are kept

Blue ball pen with you. DO NOT keep with you
books, rulers, slide rules, drawing instruments, blank

calculators (including watch calculators), pagers,

Shade the appropriate oval against each question

el phiones, or sy othet device 3 in the OMR sheet. Shade the oval completely and
2. Fill up all the details as indicated on top of the do not shade more than one oval as in that case the
QUESTIONBOOKLET and OMR Sheet. answer will be treated null and void and 0.25 marks
3. Fill up correctly your SEAT number both on the would be deducted.
QUESTION BOOKLET and OMR Shect. 78 Use blue/black ball point pen only for writing
4. Read these directions carefully and answer the particulars on this page and writing or marking
questions by darkening the appropriate ovals. responses on OMR Sheet/shade the oval.
All questions are Multiple Choice Questions 8. The candidates should ensure that the OMR sheet
(MCQs)."Each of these questions has four options is not folded or damaged. Do not make any stray
for answer, out of which only ONE option is marks on the OMR sheet or mutilate the OMR
correct. A candidate has to select the correct option Sheet.
i Fgne corresp il In R LR 0508 9. Do all rough work on the Question booklet only
against the question. | and NOT on the OMR Sheet. No extra sheet is to
For Example : | be used for the rough work.
1) Ahmedabad is the city of which State? 10. Ensure that you have signed your name on the
(A) Maharashtra  (B) Tamilnadu attendance sheet circulated by th.e in;igilaul::r.
: Ensure that the invigilator has signed on the
(€) Gujarat A s Question Booklet and the OMR Sheet.
@ . @ @ 1I.  On completion of the test, the candidate MUST
HAND OVER the OMR SHEET to the Invigilator
In above example true answer is (C), so the circle - in the room/hall.
of (C) is encoded. Don’t write Gujarat in answer. 12.  Strictly follow the instructions of the invigilator.
5. There shall be negative marking for each incorrect Candidates refusing to comply with the
answer, 0.25 marks will be deducted from the instructions will be expelled from tFe test.
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(51) The pnncipal declared a holiday in the Morming.

Sclect an appropriate question to get the underlined word as an answer,
(A) What did the principal declare ?

(B) When did the principal declare a holidaf’%-

(C) Whatdid the principal declared in the moming 7/
(D) Whp declared a holiday\?gJ " |
(52) "Gethabituated’ means
(A) Get habits (B) Get upset
(C) Get acquainted /(D) Get used to
(33) Youcan’t h'avé aration card of this cityasyouarea............. . of this city. Fill in the blank with
proper word. - !
/(A) non-residence - (B)residence
(C) non-resident ~ (D)resident
(34) Select the correct spelling.
(A) Florescent | (B) Fluorescent
(;) [Flaorescent (D) Fluarescent
(53) Give one word Substitation for : A unit of an air force is
(A) Protractors . (B) Squadmn. _
(C) Barrack (D) Commander
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2
Select the Correct order to make a rﬂ*‘*‘““"‘gfuI *eNtence
(A)2,4.3 B)24,1 3
(C) 2,143 R - (\DH‘ZJ,I
Q
(37) Selectaworg which is nearly opposite of pre<ive
(A) prevent ) upkeep
(C) destroy (D) import

(58) Does she eat a mango ? Select the correct PASiVe sentence.
(A) Does a mango caten by her ?
(B) Is a mango atc by her ?
(C) Did a mango cat by her ?
(D) Is a mango caten by her ?

(60) Ketan said to Sunil, “I have something to show you.” Select the correct indirect spcech

< (A) Ketan told Sunil he had something to show him.
- (B) Ketan told Sunil that he has something to show him.

(C) Ketan said Sunil that he had sometning showed to him.
(D) Ketan told Sunil that he had something to show him.

(61) Hewaslooking.................. . his lost keys. Put proper Preposition.
/(f‘() at | (B) for
(C) after | . (D)into
(62) Select odd one from the set. 1
_4A) Louder ' ~ (B) Quiet .
(C) Feeble .-~ (D)Calm
(63) Selectincorrect pair of rhyming word.
(A) dance - glance B) time - dine
‘éC) motion - notion (D) arrow - narrow
(64) Dead bodies of animals or men - are called A .
(A) Carrion _{B) Scavenger
(C) Carcasses (D) Perch
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lan
The enemy Planes turn awa
((,5) Choose the most ﬁppropriatc mcaning fOr ‘he undcr“ned WOl’d y and

disappear,

(A)goup (B) £0 back

(C) reappear (D) vanish
(66) A group of wolves is called.

(A) a pack (B) " herd

B (D) a fleet

| : ¢ foe.
(67) Select the correct meaning of the expressjoy civen below : [am leaving 1o slay th
(A) I'mdetermined to win over all the Obsty cles
(B) I'll Struggle and search my path. |

L (C)I'll fight against every small and b g Problers
(D) I'll make my own place in this world. |

[68) Heé.cinnminien in the same house since 2004
Fill in the blank wath proper verb form.
(A) has lived (B) has been living
.« g o 7
(C)1sliving (D) lived
(69) Frenzy means.
(A) tend something lovingly (B) that has little value
(C) fecling sleepy. D) extremely emotional wave
(70) Select the correct prefix to make a word opposite of : responsible
(A)in (B) un
(C)J'r (D)1l
(71) The hare ran Swiftly. Select the correct negative sentence without change in its meaning.
(A) The hare don’t run swiftly. - (B) The hare didn’t run slowly.
/(C) The hare do not run fast. (D) The hare didn’t run steadily.
(72) Identify the correct emotion of the sentence. What a huge skeletonitis!
(A) Angry | (B) Scared
(C) Disgusted P) Surprised
(73) Select the correct degree of comparison.
(A) Kumar is not short as Sohan+ - _B) Iron 1s heavier than plastic
(C) Indrais not fatter as Manoj (D) Sohan is as cleaverer as Rohan

(74) Select the correct reporting verb for the below sentence. “Don’t touch it. It’s hot.”

(A)remind, / - _ (B) request +
COwan./ = (D) advise -
(10/16)
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